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Eight persons A, B, C, D, E, F, G and H live on different
floors of the same building having eight floors (the
ground floor is numbered as the first floor while the
topmost floor is numbered as the eighth floor). They
were born on the same day of the same month but in
different years. All their ages are to be considered
from the base year i.e. 2018. G is 42 years old and
lives on an odd numbered floor below the 5th floor. B
is 20 younger than the one who lives on 2nd floor.
Only three persons live between G and the one who
was born in 1984. F lives on 4th floor and he is 13
years old. A lives on even numbered floor. There are
three floors in between C and D who lives on an even
numbered floor. H is 34 years old and lives on an odd
numbered floor. The one who is 28 years old lives
immediate above the floor on which E lives. The one
who lives on ground floor is 5 years older than the
one who lives on 4th floor. D was born in 1996. B
lives above the floor on which C lives. One person
was born in 1962.
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Solutions (1-5)

Sol.

Floor

Person

Year

How many people live between B and the one who was born in 1990?
(a) Four

(b) Three

(c) Two

(d) One

(e) More than Four

8 A 1962
7 H 1984
6 D 1996
5 B 2010
4 F 2005
3 G 1976
2 C 1990
1 E 2000

Who among the following lives on top most floor?
(a) The one who was born in 1962

(b) D

(c) E

(d)H

(e) C

Who among the following lives on 5th floor?
(a) The one who is 8 years old

(b) R

(c) The one who was born in 1984

(d) C

(e) E




Solutions (1-5)

Who among the following lives just below the one who was born in 19767
(@)D
(b) B
(c) C
(d) A
(e) F

Sol.

Floor Person | Year
8 A 1962
7 H 1984
6 D 1996
5 B 2010
4 F 2005
3 G 1976
2 C 1990
1 E 2000

Which of the following combinations is true?
(a) Fifth floor-F

(b) Second floor-E

(c) Sixth floor-G

(d) Eighth floor -A

(e) Third floor-H




“Quad Core processor clocks” is written as ‘&5Z &5V S9V &8
“Massive internal memory” is written as ‘S7Z &8Z &7V’
“Which makes multitasking” is written as ‘S7R S6Z &117’

What is the code for ‘Snapdragon’ in the given code language?
(a) &10L

(b) $10Z

(c)$72

(d) &10zZ

(e) None of these

What is the code for ‘shade owners’ in the given code language?
(a) S6Z S7V

(b) S6Z &7V

(c) &6Z S7V

(d) Can’t be determined

(e) None of these.




P ) - What does the code ‘&8R’ stand for in the given code language?
Quad Core processor clocks” is

(a) yellow
written as ‘&5Z &5V S9V &8 (b) in
“Massive internal memory” is (c) blue

(d) Bright

written as ‘S7Z &8Z &7V’
“Which makes multitasking” is

(e) None of these

written as ‘S7R S6Z &117’ What is the code for ‘blue heaven love’ in the given code language?

(a) &5V &67Z &5V

(b) S5V &8Z S5V

(c) &8Z $5V S5V

(d) Can’t be determined
(e) None of these

‘&8L &6L &5V’ is the code for which of the following?
(a) Cloths colour blue
(b) Shade in blue

(c) Isin blue

(d) Can’t be determined
(e) None of these
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Eight persons sit in a row such that some of them
are facing in the north direction and some are
facing in the south direction. Note: No two
adjacent persons are sitting according to the
English alphabetical series for example, P is not an
immediate neighbor of both O and Q, and so on. C
sits third from one of the extreme ends of the row.
A sits third to the left of C. Only one person sits
between A and B. Three persons sit between D
and E. As many persons sit to the left of E as to the
left of H. H faces north direction. Immediate
neighbors of C face same direction. Persons sitting
at the extreme end faces the same direction. G sits
to the left of F. E faces opposite direction as A.
Immediate neighbors of G faces the opposite
direction. G does not face north direction.
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How many persons sit between B and E?

j, \lL ‘ i ‘ ‘ ‘ l (a) One (b) Two (c)Three (d) Four (e) More than four
B G F D

Who among the following sits third to the right of
H?
(@) F(b)E(c) D (d) G (e) A

Four of the following five are alike in a certain way and
hence form a group which of the following does not

Which of the following statement is not belong to the group?

true? (a) FC (b) CH (c) GA (d) DC (e) HE
(a) H sits immediate left of E

(b) A sits between H and C

(c) D sits at an extreme end

(d) C sits immediate left of F.

(e) No one sits between A and G.

How many persons face south direction?
(a) Four (b) Two (c) Three (d) One (e) More than four




Statements: Only a few paint is color.
No color is fabric.

Only a few fabric is enamel.

(a)Some fabric is paint

(b) All paint can be fabric

(c) All enamel can be color

(d) Some paint is enamel

(e) All color can be paint




Statements: Only a few brush is nail. Only a few
home is buyer. Some buyer is nail.

(a) Some buyer is not nail.

(b) Some nail is not home

(c) All brush is buyer

(d) Some brush is not nail.

(e) All home can be buyer.




Statements: Some nail is paint. Only a few paint
is oil. All oil is dark.

(a) No dark is paint

(b) Some dark can be nail.

(c) Some paint can be dark.

(d) Some oil is nail.

(e) Some oil is not paint.




Statements: Only a few brush is wallet. All brush
iS money. Some money is enamel.

(a)Some enamel is wallet.

(b) Some money is not brush.

(c) All brush can be wallet.

(d) Some enamel is not money.

(e) All wallet can be brush.




Statements: No nail is pain. No body is pain.
Only a few pain is arm.

(a)Some arm is body.

(b) Some body is nail.

(c) All nail can be arm.

(d) Some arm is not pain.

(e) All arm can be body.
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Elements V| 7
Codes 1 (2]

T | & | U |2 E|A
9| h | * $

-

Conditions:
. If first element is even number and last element is symbol then the codes for both of them
is interchanged.

Il. If any vowel is preceded by an odd number then their codes will be code of the odd
number.

lll. If the first element is odd number and last element is consonant then their codes will be
the code of the first element.

IV. If any consonant is succeeded by symbol then their codes will be the code of the symbol.
Note: In each case either no or one or more than one condition is followed

What is the code for 27AU#?
(a)n@Sfn (b) n@@*f (c) f@@*f
(d) f@@*n (e) nS@nf
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Conditions:
. If first element is even number and last element is symbol then the codes for both of them
is interchanged.

Il. If any vowel is preceded by an odd number then their codes will be code of the odd
number.

lll. If the first element is odd number and last element is consonant then their codes will be
the code of the first element.

IV. If any consonant is succeeded by symbol then their codes will be the code of the symbol.
Note: In each case either no or one or more than one condition is followed

What is the code for 7VU&A?

(aJ@1*hs  (b) S1*h@  (c) S1*hS
(d) @1*h@ (e) None of these
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Conditions:

. If first element is even number and last element is symbol then the codes for both of them
is interchanged.

Il. If any vowel is preceded by an odd number then their codes will be code of the odd
number.

lll. If the first element is odd number and last element is consonant then their codes will be
the code of the first element.

IV. If any consonant is succeeded by symbol then their codes will be the code of the symbol.
Note: In each case either no or one or more than one condition is followed

What is the code for 7T&2V?

(a) @h9f@ (b) @hh@f (c) @hhf@ }
(d) 1h9f@ (e) 1h9f1




m_d'ﬁ'_cl'A B,C,D,EFG3iTHUH AR AT &
ARY AT & g Y I AT FE A5 T T e
3TS Irerar-3rerar et & w11t §1 F 31K qor o1t areY
—qﬁ-?ra?m'qmw—qﬁ?rﬂa%ltrﬁaﬁm
WWWWNW%HWWW
d5 81D, qﬁaﬁaﬁ—qﬁ?ﬁ;m#mww
%a%laﬁ—qﬁ?ra’rﬁﬁlé#% D % g W gaY
AT T ST & | AoTs Aot aTel FTFd 31T ToTel%
TR T RIS AT AT AFTISEIH, 6 F
R ¥ Y T Wt B HWETHT%I G,AF
CIo k] TUTH X S51 &1 21918 STt areiT Ao d,
G F a1 § Y FUTT W AST | B, STAY ATt ATl
afFd & S g o1 8 cmésﬁtaﬂma'é’r
ST Y| E TETE At ATar ¥l

Eight persons A, B, C, D, E, F, G and H sits
around a circular table facing towards the
center of the table. All of them go to eight
different cities. Only one person sits between F
and the one who go to Pune. Three persons sit
between the one who go to Pune and the one
who go to Mumbai. D sits third to the left of
the one who go to Pune. The one who is from
Chennai sits second to the right of D. Three
persons sit between the one who go to
Chennai and the one who go to Bengaluru. H
sits second to the right of G. H go to Delhi. G
sits third to the left of A. The one who go to
Chandigarh sits third to the left of G. B sits
immediate right of the person who go to Jaipur.
C does not go to Mumbai and Kolkata. E does
not go to Chandigarh.
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H(Delhi)

A(Chennai)

D(Kolkata)

E(Pune) G(Mumbai)

C(Chandigarh)

B(Bengaluru)
F(Jaipur)

Who among the following go to Chandigarh?
(@)A(b)C(c)D(d)B(e) G

How many persons sit between A and G when counted from
right of G? (a) Two (b) Three (c) Four (d) Five (e) One

Who among the following sits second to the left of the one
who is from Chennai? (a) G(b) A(c) D (d) B (e) C

F go to which of the following city? (a) Mumbai (b) Jaipur
(c) Bengaluru (d) Chennai (e) Kolkata

Which of the following is true regarding B? (a) B sits
immediate left of D (b) B go to Chennai (c) B sits third right
of A. (d) C is immediate neighbor of B. (e) B go to
Bengaluru.




